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SSC MOCK TEST – 192 (SOLUTION)

1. (A) Chennai is the capital of Tamil Nadu and
Imphal is the capital of Manipur.

2. (C) As, 23 : 535 (23)2+ (2×3) =529 +6 =535
Similarly, 17 : 296  (17)2+(1×7)=289+7
=296.

3. (D) As, SUN : 45  

19+21+14 = 54      45

S U N


Similarly,

MOON : 114   M O O N

13+15+15+14 = 57     75
4. (D) Except Rajendra Prasad, others are

names of Prime Ministers of India.

5. (D) G E C 

–2 –2 

Q O N 

–2 –1 

Y W V 

–2 –1 

R P O 

–2 –1 

6. (A) 8 – 72   82 + 8 = 72
6 – 42  62 + 6 = 42
9 – 90  92 + 9 = 90

12  122 + 12  144
7. (C) 52341

8. (B) 2 3 8 27 112 

×1+1 ×2+2 ×3+3 ×4+4

, , , ,

9. (C) +3 

+1 

JQ MR PS ST V U Y V

+3 +3 +3 +3 

+1 +1 +1 +1 

, , , , ,

10. (C) Let the Present ages of P & Q = 9x & 4x
ATQ.,
9x – 4x = 20

 5x = 20
 x = 4

Present ages of P & Q = 36 years & 16
years
Required Sum = (36 + 16 + 10 + 10)
= 72 years

11. (A) A.T.Q.,
P = Q + 2    ...(i)    and   Q = 2R    ...(ii)
P + Q + R = 27 ...(iii)
Putting eq(i) and eq(ii) in eq(iii),

Q + 2 + Q + 
Q

2
= 27


5Q 4

2


= 27

 5Q = 50
 Q = 10 years

12. (C) Word 'SALTY' cannot be written.

13. (C) As, T O M A T O

0 2 3 4 0 2

and, O R I O N L

2 7 5 2 6 9
Similarly,

N O R M A L

6 2 7 3 4 9
14. (D) 28 + 7 – 34 ÷ 4 × 7

After inter-changing signs as per given
details,
28 ÷ 7 × 34 – 4 + 7
= 136 + 3 = 139

15. (D) As, 3@3*3 = 
3

3 3
3
 

and 48@4 × 3 = 
48

3 36
4

 

Similarly, 104@13*2 = 
104

2
13

 16

16. (B) As, 7 + 8 + 2 = 17 (1+ 7)2 = 64
and 9 + 4 + 5 = 18 (1+ 8)2 = 81
Similarly, 6 + 9 + 7 = 22 (2 + 2)2 = 16

17. (C) 10 km

4 km

20 km

A

B

8 km

Shortest distance between A and B.

= 2 2(24) (18) = 576 324 = 900

= 30km

18. (B)

Purse Cloths

I. ×
II. ×

III. 
\ Only conclusion III follows.

19. (A) A.T.Q,
Riya's birthday is after 15th and between
13rd and 17th.

\ Riya's birthday is on 16th september.
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20. (B)
21. (D)
22. (B)
23. (B)
24. (B)
25. (C) L O U D

   
87 02 96 41

26. (D) Diamond is the polymorph of the element
carbon. Calcium is the basic element of
naturally occurring marble. Sand formed
by Silicon and Aluminium is the basic
element of naturally occurring Ruby.

27. (C) Order of precedence is President, Vice
President, PM, Governor of State within
their respective states, Former Presidents
and Deputy PM, CJI and Speaker of LS.

28. (D) PESA Act does not identify the freedom of
tribal people from exploitation as its
objectives, but it automatically becomes
a by-product of its objectives.

30. (D) Tarikh-i-Firuzshahi written by Shams
Siraj Afif, gives a detailed account of the
reign of Sultan Firuz Shah Tughlaq (1351-
1388 AD). Afif was born in a noble family,
whose members are known to have served
the sultanate since the days of Sultan
Alauddin Khalji.

33. (D) Correct chronological order:
1. Simon Commission, was appointed in

November 1927 by the British
Conservative government under Stanley
Baldwin to report on the working of the
Indian constitution established by the
Government of India Act of 1919.

2. The First Round Table Conference was
held between November 1930 and
January 1931 in London. The first
session had 73 representatives from all
Indian states.

3. Gandhi-Irwin pact was signed between
Mahatma Gandhi and the then Viceroy
of India, Lord Irwin on March 5th, 1931.

4. The Communal Award was announced by
the British Prime Minister, Ramsay
MacDonald, in August 1932. This was yet
another expression of British policy of
divide and rule.

34. (B) Ismail Merchant was an Indian born film
producer and director. In 2002, he was
awarded Padma Bhushan and also a re-
cipient of the International Center in New
York's Award of Excellence.

35. (A) Ahmedabad is called the Manchester of
India because of similarity with the fa-
mous cotton textile centre of Manches-
ter, Great Britain.
Jamshedpur is known as the steel city of

India.
Bengaluru is known as garden city of India.

36. (D) Brahmo Samaj was founded by Raja Ram
Mohan Roy in 1828, in Bengal.
Veda Samaj was founded by Keshab
Chandra Sen and K. Sridharalu Naidu in
1864, in Madras. Arya Samaj was founded
by Dayanand Saraswati in 1875.
Satyashodhak Samaj was founded by
Jyoti Rao Phule in 1873

39. (B) 2018 Magsaysay Award Winners
(1) Howard Dee (Philippines)
(2) Sonam Wangchuk (India)
(3) Bharat Vatwani (India)
(4) Youk Chhang (Combodia)
(5) Vo Thi Hoang (Vietnam)
(6) Maria de Lourdes Martins (East Timor)
Sanjiv Chaturbedi (India) were awarded
in 2015.
Thodur madabusi Krishna (India) was
awarded in 2016

42. (D) Igneous Rocks are formed by the cooling
of molten magma on the earth's surface.
Some other examples of these rocks are
Basalt, Obsidian, Pumice, Scoria, Tuff,
Granite and Gabbro.

43. (C) June 4 – International Day of Innocent
Children Victims of Aggression
September 23 – International Day for Sign
Language.
March 1 – Zero Discremination Day

44. (A) Kamalkari painting is a hand painted cot-
ton textile in Andhra Pradesh, Telangana
and Tamil Nadu. There are two distinc-
tive styles of KalamKari - Srikalahasti and
Machilipatnam.

45. (B) The first phenomenological theory of su-
perconductivity was London theory. It was
put forward by the brothers Fritz and
Heins London in 1935, shortly after the
discovery that magnetic fields are expelled
from superconductors.

47. (C) Kidneys are essential in the urinary sys-
tem and also serve homeostatic functions
(maintaining salt and water balance).
They serve the body as a natural filter of
the blood, and remove wastes which are
diverted to the urinary bladder whereas
the antibodies are produced by antigens
in the cell.

48. (C) Botanical Name Plant/Tree
Rosa Rose
Malus Apple
Mangifera indica Mango

49. (B) Muscat is capital of Oman.
Dublin is capital of Ireland.
Montevideo is capital of Uruguay.



Ph: 09555108888,  09555208888

KD Campus

3

PLOT NO. 2 SSI, OPP METRO PILLAR 150, GT KARNAL ROAD, JAHANGIRPURI DELHI: 110033

51. (C) Let the number be 10x + y

A.T.Q.,

10

10

x y

y x




=

4

7

 70x + 7y = 40y + 4x
 66x = 33y


x

y
=

1

2

 Possible numbers, xy = 12, 24, 36, 48
and its reverse yx = 21, 42, 63, 84

\ Required sum = 12 + 21 + 24 + 42 +

36 + 63 + 48 + 84 = 330

52. (C) Let the installments be 
a

r
, a, ar

Total payment = 3584

\
a

r
 + a + ar = 3584


a

r
(1+ r + r2) = 3584 ...(i)

`2604

year1 year2 year3
A B C D

a ar

1

7

2

7
8

7

R=14    %

1+R =1+
a

r

=

1

7
=

Shifting all installment back to point A

and equating

a

r
×

7

8
+ a ×

7

8
×

7

8
+ ar ×

7

8
×

7

8
×

7

8
= `2604

a

r

2448 392 343

512

r r  
 
 

 = 2604

a

r
[448 +392r +343r 2]= 2604×512   ...(ii)

Dividing equation (i) by equation (ii),


2

2

1

448 392 343

r r

r r

 

 
=

3584

2604 512
 =

1

372

 372 + 372r + 372r 2 = 448 + 392r + 343r2

 29r2 – 20r – 76 = 0
 29r2 – 58r + 38r – 76 = 0
 29r(r – 2) + 38(r – 2) = 0

 r = 2 as r 
38

29


   (G.P is increasing)

Now, 
2

a
(1 + r + r2) = 3584 ...(i)


2

a
(1+ 2+ 4) = 3584


2

a
= 

3584

7
= 512

 2a = 512 × 4 = `2048
\ Last installment = ar = 2a = `2048

53. (D) Let the required speed = x km/h

A.T.Q.,

 
250 18

9
40 5x






 x + 40 = 100

 x = 60

\ Required speed = 60 km/hr.

54. (D) A, B and C can Complete the entire work

in 20, 25 and 100 days respectively.

Let the total work be LCM (20, 25, 100)

= 100 units

A's efficiency = 
100 units

20 days
= 5 units/day

B's efficiency = 
100 units

25 days
 = 4 units/day

C's efficiency = 
100 units

100 days
= 1 unit/day

A, B and C were supposed to do the work

together

\ Scheduled time = 
100 units

(5 4 1) unit/days 

= 10 days

 B left after 6 days

Drawing worker's-Time line

A+B+C=5+4+1
=10 units/day

60units 100–(60+4)= 36 unit 4 units

C=1unit/day Actual
completion4 days6 days

A + C = 5 +1
=6 units day

start
6 days

6 day's A, B, C work =(5+4+1)×6= 60units

4 day's C's work = 1× 4 = 4 units

Remaining work = 100 –(60+4) = 36 units

As, this remaining work was done by A & C

Time taken by A & C to complete 36 units

=
36 units

6 unit/days
= 6 days

Now,

A works for = 6 + 6 = 12 days

B works for = 6 days

C works for = 6 + 6 + 4 = 16 days

Ratio of A, B & C work =12×5 : 4×6 :16×1

     = 60 : 24 :16 =15 : 6 : 4

\ C's share = `15000 ×
4

(15 6 4) 
= `2400
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55. (D) Let Ajay and Vijay's present age be 2x,

3x.

4 years ago their age was 2x – 4, 3x – 4

A.T.Q.,

2x – 4 : 3x – 4 = 3 : 5


2 4

3 4

x

x




 = 

3

5

 10x – 20 = 9x –12
 x = 20 – 12 = 8
\ Vijay's present age = 3x = 24 years

56. (B) Required new price = 
279 10

100 6.2





= `4.5/kg

57. (C) Let CP =  `100

MP = 100 + 25% of 100 =  `125

S.P =  `125 – 10% of 125

=  `125 –12.5 = 112.5

\ profit% = 
12.5

100
×100 = 12.5

58. (D) As 30625  = 175

30625  + 306.25 + 3.0625 + 0.030625

 = 175 + 17.5 + 1.75 + 0.175= 194.425

59. (B)

80°

70° 30°
15°35°

A

B C

I

In DABC

 A + B + C = 180°

\  C = 180°–(80° + 70°) = 30°

 IBC = 35° and  ICB = 15°
(\ In-center is the meeting

   point of angle bisector)

\ 180BIC    – (35° + 15°) = 130°

60. (D)
m

n
= 

1

2

Ratio of their interior angle =

( 2) 180

( 2) 180

m

m
n

n

 

 

= 
( 2)

( 2)

m n

n m





A.T.Q.,

( 2)

( 2)

m n

n m




= 

3

4


2

2

m

n





2

1

 
  

= 
3

4

 8(m – 2) = 3(n – 2)
 8m – 16 = 3n – 6
 8m – 3n = 10
 8m – 3×2m = 10
 2m = 10
 m = 5, n = 10

61. (B) Centroid =
1 4 2 5 0 2

,
3 3

     
  

     = (1, –1)

A'

A

y

x

y =2

(5,5)

(5,–1)
O

Reflection point A' = (5, 5)

\ Required Distance = 2 2(5 1) (5 (–1))  

         = 2 2(4) (6)

         = 16 36 = 52

62. (C) 8cos A + 15 sin A + 15

= 17
8 15

cos A sinA
17 17

 
   + 15

= 17(sinB cosA + cosB. sinA) + 15

8 15
Let sinB & cosB

17 17

 
   

= 17 sin(A + B) + 15

Now,

[+1 < sin(A + B)  –1]

 [sin(A + B)]
min

 = –1
 [sin(A – B)]max = 1
\ Required max value = 17 ×1+15 = 32

& Required min value = 17 × –1+15 = –2

63. (B) Last two digits of 7n

71 – 07

72 – 49

73 – 43

74 – 01

Cyclicity of 7n is 4.

145 = 4 × 36 + 1

7145  74×36 +1  71  07

 Last two digits of 7n is 07
\ Required sum = 0 + 7 = 7
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64. (C) Let the two numbers be x and y

A.T.Q., x + y = 65
xy = 299

\ Required sum = 
1

x
+

1

y
=

x y

xy



= 
65

299
=

5

23

65. (B) t = 
2sin

1 cos sin

x

x x 

 t = 
2sin

1 cos sin

x

x x 
× 

(1 sin cos )

(1 sin cos )

x x

x x

 

 

 t = 2 sinx × 2 2

1 sin cos

((1 sin ) cos )

x x

x x

 

 

 t = 2sinx 2 2

1 sin cos

1 sin 2sin cos

x x

x x x

  
    

 t = 2sinx × 2 2 2 2

1 sin cos

(cos sin ) sin 2sin cos

x x

x x x x x

 

   

  t = 2 sinx 2

1 sin cos

2sin 2sin

x x

x x

  
  

 t = 2 sinx ×
(1 sin cos )

2sin (1 sin )

x x

x x

 



 t = 
1- cosx + sinx

1+ sinx

66. (C)
1

13x
x

 

 x2 + 2

1

x
 =  

2

13 – 2

 x2 + 2

1

x
= 11

Now, x – 
1

x
 = 

2

2

1
2x

x
 

 x – 
1

x
 = 11 2 = 3

\
1

x
x

 
    

1
x

x

 
   = 3 13

 x2 – 2

1

x
= 3 13 ...(i)

and,  
3

3

3

1
13 3 13x

x
  

 x3 + 3

1

x
 = 10 13 ...(ii)

Multiply equation (i) and (ii), we get

2

2

1
x

x

 
 

 
3.

3

1
x

x

 
 

  = 10 13 3 13


5

5

1 1
x x

xx

 
      = 390

 5

5

1
x

x
  = 390 + 3 = 393

67. (A) Area of D = 
1

2
× 8 ×15 × sinq

angle between sides (8 cm & 15 cm)
Maximum value of q = 90°

(Area)
max

 = 
1

2
×8×15 = 60 cm2

\ Required Area  60 cm2

\ option (A) is correct.

68. (B)

60°
30°

C

A

B D

E

Height at which plane is flying is 1200 3 m
In DABC,

tan60 = 
AC

BC
= 

1200 3

BC


3

1
=

1200 3

BC

 BC = 1200 m
In DBDE,

tan30 = 
DE

BD


1

3
= 

1200 3

BD

 BD = 3600 m
Distance travelled in 15 sec = 3600 – 1200

        = 2400 m

\ Required speed = 
2400

15
 = 160 m/s.

69. (B)

1

2

3

4

5

x

y

1 2 3 4 5–1–2–3–4–9 –8 –7 –6 –5
–1

–2

–3

–4

–5

6 7

x = –1

(–8,4) (6,4)

\ The reflection of point (6, 4) on line x
= – 1 is (–8, 4).
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MEANINGS IN ALPHABETICAL ORDER
 Word Meaning in English Meaning in Hindi

Irritated showing or feeling slight anger dqfir

Scandalize to offend the moral sense of  viekfur djuk

Scared frightened vkrafdr] Hk;Hkhr

Brutal like an animal i'kqor] ik'kfod

Chew to crush or grind (food) with the teeth  pckuk

Defalcate to engage in embezzlement xcu djuk

Devastate to bring to ruin uk'k djuk

Devour to eat up greedily ykyph dh rjg tYnh&tYnh [kkuk

Ferocious extremely intense, very fierce vfr Øwj] Hk;adj

Germination to cause to sprout or develop vadqj.k

Masticate to grind or crush (food) with the teeth pckuk

Pilgrim a person who journeys to sacred places frFkZ;k=kh

for religious reasons

Presbyte another name for presbyopia nwj n`f"V jksx

Proselyte a person who has converted from ij/eZ vuq;k;h

one opinion, religion, or party to another

Leisure enjoyable activities that you do when you iqQjlr] eksgyr

are not working, free time.

Perpetuity the state of continuing forever or for a vuar dky

very long time

Percussive having powerful impact Vdjkrk gqvk

70. (C) A B

CD

F

E

9cm

36 cm

28 cm

Area of parallelogram = AE × CD = CF × AD.

 AE × 36 = 28 ×9
 AE = 7 cm

71. (A) P = 1 + 2 + 3

 P – 1 = 2 + 3


1

P 1
= 

1

( 2 3)


1

P 1
=

( 2 3)

( 2 3)( 2 3)



 
=

2 3

1




= 3 – 2

 P +
1

P 1
= 1+ 2 + 3 + 3 – 2 =1+ 2 3

 P +
1

P 1
+ 3 = 4 + 2 3

 P +
1

P 1
+ 3 =(1)2+( 3 )2+2×1× 3

 P +
1

P 1
+ 3 = (1 + 3 )2


1

P 3
P 1

 


= (1 + 3 )

72. (D) Required ratio = (70% of 18% + 55% of
24%) : (30% of 18% + 45% of 24%)
= 2580: 1620
= 43 : 27

73. (A) Required % = 
18

24
×100 = 75%

74. (D) Total number of females = 24500 of [11%
of 60% + 24% of 45% + 21% of 80% +
18% of 30% + 16% of 35% + 10% of 44%]
= 12152

75. (C) Required ratio = 21% of 20% : 18% of 70%
= 1 : 3
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SSC MOCK TEST - 192 (ANSWER KEY)

1. (A)
2. (C)
3. (D)
4. (D)
5. (D)
6. (A)
7. (C)
8. (B)
9. (C)
10. (C)
11. (A)
12. (C)
13. (C)
14. (D)
15. (D)
16. (B)
17. (C)
18. (B)
19. (A)
20. (B)
21. (D)
22. (B)
23. (B)
24. (B)
25. (C)

26. (D)
27. (C)
28. (D)
29. (A)
30. (D)
31. (C)
32. (B)
33. (D)
34. (B)
35. (A)
36. (D)
37. (B)
38. (C)
39. (B)
40. (A)
41. (D)
42. (A)
43. (A)
44. (A)
45. (B)
46. (A)
47. (C)
48. (C)
49. (B)
50. (C)

51. (C)
52. (C)
53. (D)
54. (D)
55. (D)
56. (B)
57. (C)
58. (D)
59. (B)
60. (D)
61. (B)
62. (C)
63. (B)
64. (C)
65. (B)
66. (C)
67. (A)
68. (B)
69. (B)
70. (C)
71. (A)
72. (D)
73. (A)
74. (D)
75. (C)

76. (A)
77. (B)
78. (B)
79. (C)
80. (C)
81. (D)
82. (A)
83. (D)
84. (A)
85. (A)
86. (A)
87. (C)
88. (B)
89. (D)
90. (A)
91. (C)
92. (D)
93. (D)
94. (B)
95. (C)
96. (A)
97. (D)
98. (D)
99. (D)
100. (A)

Note:- If your opinion differs regarding any answer, please message the mock
test and question number to 8860330003

Note:- Whatsapp with Mock Test No. and Question No. at 7053606571 for any of the doubts.
Join the group and you may also share your suggestions and experience of Sunday Mock Test.

Note:- If you face any problem regarding result or marks scored, please
contact  9313111777

76. (A) Replace ‘is having’ with ‘has had’. As the

sentence has for + time.

77. (B) The correct pair is the reason ------- that.

'Reason' with ‘because’ becomes

superfluous.

Hence replace 'because' with 'that'.

88. (B) 'Forthwith' means 'at once, immediately'.

'Impromptu' means 'without preparation'.

89. (D) 'Some' is used with both uncountable

noun and countable nouns. Here the

answer is expected in 'yes' so use 'some'

in place of 'any' in an interrogative

sentence too.




